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18 (1024 — 964|159 — 162|123 — 98 | 91 — 100
28 [987 — 946|160 — 162 | 92 — 84 | 92 — 100
3 [985 — 962|160 — 162 | 93 — 104 | 92 — 100
48 |98 — 978|160 — 162|111 — 90 | 92 — 9.9
58 |1002 — 985|159 — 162|117 —  169]| 92 — 99
cH [1013 — 984|160 — @ 162 | 85 — 8.1 91 — 9.8
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8H 997 — 988|160 — 162|117 — 123]| 94 — 101
9H (997 — 996|160 — 161|119 — 75 | 94 — 96
1088|1011 — 985|160 — 162 | 85 — 82 | 90 — 9.7
118 [1025 — | 975 | 161 — 163 | 74 — 78 | 89 — 99
1248|1017 — 970|160 — 163|100 — 93 | 89 — 100
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218 | — 1016 966 — 162 163 | — 88 104 | — 89 100
228 — 1014 980 — 162 163 | — 80 79 — 89 100
238 — 1001 947 — 163 164 | — 82 86 — 93 100
244 | — 1016 977 | — 163 164 | — 74 91 — 90 100
258 | — 1039 961 — 162 163 | — 121 96 — 91 9.8
208 — 1003 949 — 163 164 | — 71 121 — 93 103
278 | — 1007 956 — 163 163 | — 62 84 — 92 102
288 — 999 969 — 163 164 | — 65 73 — 91 1041
298| — 1010 943 — 163 164 | — 78 | 90 — 89 102
308 — 1001 969 — 163 164 | — 87 81 — 90 100
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—D1 HARDPDENERE
DIHNeEE
3} e memr — o
2 BRREL VA -ERIS
B FR
N[N, A SRR = N ZOZ=FHR N
(012%) (0512%) (0512%)
g./m°N m3N/ h me./mN poPM
8 1 1S 23SIF IS 13SF 23F ISP 1SIF 2P| 3SFE| 1S 23SIF ISP
cA25H | — <001 <001 — 032 051 — 42 11 — 53 38
SEREHIE 0.08 1046 700 250
BB KIREE
(0,12%)
ueg/meN
=N 181F 281 381
6A25H| — 34 —
SEREHIE 50




